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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@$ - 1/PART -1
Gy : Qar@ésuUL e WLIHD ferLsalld Bsabd gnymLw eflaLeamusd
CoipEs055E GMIHLe eflenQenand Caibg eT(HSeyLD. 15x1=15

Note : Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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@Gr wrdflurer «Gs warymssmar QawpampedpE Sigildamme sflwmen
dMoLeows smo Qswupasmgy GreueUT SiePEELILIHLD ?

(1) Pure Qewipsag (<) Impure QWD
(@) Partial Qewhanpy (FF) Dynamic Q&wméap)

The function which will give exact result when same arguments are passed are
called :

(@) Pure functions (b) Impure functions
(c) Partial functions (d) Dynamic functions

wrpp enw wpywrs Qurmeler Qs auflens :

(1) Derived Data (<) Built'in
(§) List () Tuple
A sequence of immutable objects is called : |

(a) - Derived data (b)  Built in
(c) [List (d) Tuple

THs @endEpeler e pliLsemer Gansw(pelar 2 arGar L (HLDSTET eaWiTeT
WPy ? |

(<t) Public 2 mpiliLseT (<) Private 2 miliL|&eir

(@) Protected 2 mLiser (/) Secured o Ui &eT

Which of the following members of a class can be handled only from within the class ?
(@) Public members (b) Private members

(c) Protected members (d) Secured members

QApdlapeoniear Qeudfpmear arei @rean® wééw ereiBaar eranas ?
(<=1) 76y LHYLD @LLb (<) Qewed wHmib Hlevareusid

(8) Hésd wpmd Qarerererey () Gprbd wHMID GLb

Two main measures for the efficiency of an algorithm are :

(a) Data and space (b) Processor and memory

(c) Complexity and capacity (d) Time and space
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IDLE -&r aflfley :

(<) Integrated Design Learning Environment
(<) Insert Development Learning Environment
(@) Integrated Develop Learning Environment
(

) Integrated Development Learning Environment
Expand IDLE :

(@) Integrated Design Learning Environment

(b) Insert Development Learning Environment

(c) Integrated Develop Learning Environment

(d) Integrated Development Learning Environment

Yeneumid GHlarmuien Qeuelu§@ erérar 2
for i in range(2,10,2):
print(i,end="")

(=) 8642 ()2 4 6810

(@) 2468 (W) 246
What is the output of the following snippet ?

for i in range(2,10,2):

print(i,end="")

@ 8642 (b) 246810
(c) 2468 (d 246

Qénaumid Qewpaperp wHISH Qsiig igd Qaallii oL apss.
x=14.4

print(math.floor(x))

(=1) 13 (<) 14 | (@) 15 () 14.3
Evaluate the following function and write the output.

x=14.4

print(math.floor(x))

(@ 13 (b) 14 (¢ 15 (d) 14.3
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Waramid @Mymésran Qaualul@ wirg ?
str="NEW DELHI”

str|3]="-"

(<) NEW-DELHI (<24) NE-DELHI
(@) NEW DELHI () NEW-ELHI
What will be the output of the following code ?
str="NEW DELHI"

str[3]="-"
(a) NEW-DELHI (b) NE-DELHI
() NEW DELHI (d) NEW-ELHI

eugsTen Dictionary -& Sna|Caraser ersamma GHALILBSemar.

(1) (=) = (@) : () +
The keys in Python dictionary is specified by :
(@ b = - : (d) +

@angEw emuiyaer erps Qewun@hluden apab Samsiu@Eng ?

(=1) - ()& (&) % () #
Class members are accessed through which operator ?
(@ - ®) & © % (d) #

SELECT &ahmid@ Lweru@n Seneard 6rg) ?

(1) Q ()0 (@) = (r) X
What symbol is used for SELECT statement ?
(@) Q (b) o () = (d) x
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12, silLaumeanaw Bés LwaLBSS Ceuemg Sl e :
(<) DROP (<2y,) ALTER TABLE
(@) DELETE () DELETE ALL
The command to delete a table is ;
(A DROP (b) ALTER TABLE
(c) DELETE (d) DELETE ALL

13. CSV Garliumeng) 9 anaumeuareunmieT ereueurn ienpdsliLperarg) ?

(<31) Random File (<=y,) String File
(&) 3D File (/) Hlat File

A CSV file is also known as a :

(a) Random File (b) String File
(c) 3DFile (d) FlatFile

14. eugsmen wHOID C++ Hlrdseen QoL psiLssesHETE SLLamoUL :

() Ctypes . (<) Boost (@) SWIG (rF) Cython
A framework for interfacing Python and C++ is :

(a) Ctypes (b) Boost (c) SWIG (d) Cython

15. Garaumauanaipbled erg) @l eamésLLL Sireygeflen QsrEuUTED ?

(1) udleysar (<) BB

(@) DBMS () BreysseTd
Which of the following is an organized collection of data ?
(a) Records (b) Information
(c) DBMS (d) Database
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UGSl - 11/ PART - II

GOy : aCsmib gy oanrés@nes oL welsseyb. eflam eram 24 -&(8
sLLMULNS 6flenweflésayib., 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.
16.  Pair ereampred erenen ? THSSIGHTLD (5.

What is a Pair ? Give an example.

17. Namespaces §im GHILY cuenya.

What do you mean by Namespaces ?

18. Q@mdlapenm eremmmed ereme ?
What is an Algorithm ?

19. range() Qewnamm GHUY cueys.

Write note on range() in loop.

20. SQL sl Levaraatlen Qurglidflesener erpg)s.

Write categories of SOL commands.

21. eflfleurssd 5ms : () SWIG (i) MinGW
Write the expansion of : (i) SWIG (i) MinGW

22, ywgens “INTEGER PRIMARY KEY” eram yfleflliLgen heneno eremen ?
What is the advantage of declaring a column as “INTEGER PRIMARY KEY” ?

23. ey STLALLHESHSD cuensamu UL igwa(s.
© List the general types of data visualization.
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&Gy Qar@éstiuc Gerer ®usgren Hyeflen QeualuS® wrrgy 2
str="COMPUTER SCIENCE”

(<1) print(str2) (<) print(str[0 : 7))
What will be the output of the given Python program ?
str="COMPUTER SCIENCE”

(a) print(str*2) (b)  print(stz[0 : 7))

U@$ - III / PART - I1I

GOy : H(‘%g,gnb 3pmI aﬁlmrrésa@é;@ ellenweflGsabd. elenm ereim 33 -&@

Note :
25.

26.

27.

28.

29,

Sewmquuns of e wefasay.

Answer any six questions. Question No. 33 is compulsory.
pure LOMID impure Qewpaahenm Canupsss.
Differentiate pure and impure function.

Asymptotic GHW® - GHliiy auers.
Write a note on Asymptotic notation.

www Ceup@ilew a@sssEsT e TPGIS.

Explain Ternary operator with example,

sD&HPDS ereueurm QeudLps ?

How recursive function works ?

Gereumid GHopepuler QeuelSE ererer 2
list=[3**x for x in range(5)]

print(list)

What will be the output of the following code ?
list=[3**x for x in range(5)]

print(list)
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QAL -@ saer TCL slaarsaer upil Sipr @hliy euenrs.

Write short notes on TCL commands in SQL.

reader() wpmd DictReader() Qewpaapiler Ceumur® eremer ?

What is the difference between reader() and DictReader() function ?

fetchone() PO fetchmany() GCaumuBEE!s.

Mention the difference between fetchone() and fetchmany().

Wemeumd Hlyefen Qeuefui® eremen ?
class Hosting:
def__init__(self,name):
self. _name=name
def display(self):
print(“Welcome to”,self.__name)
obj=Hosting(“Python Programming”)

obj.display()

Write the output of the following program.
class Hosting:
def__init__(self,name):
self.__name=name
def display(self):
print(“Welcome to”,self.__name)
obj=Hosting(“Python Programming”)
obj.display()
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Note :

34.

35.

(

(<) input() OHMLD print(
(@) Discuss about Linear

(b)

(1) (@)
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UGS - IV / PART - IV
FEEGD el weflssayb.

Answer all the questions.

9|6060G)

Search algorithm with example.
OR
Explain i :
Xplain input() anq print() functions with example.

Hlrena T(LDGI5.
@)  Geraugmid Breise Qeualuh erqgss.
i=1
while(i<=6):
for j in range(1, i);
print(j, end="\t)
print(end="\n")

i+=1
ETENEM:
() Qemaumid 2 drellamans Qewpammpsamer elarsss.
@) id() (i)  chr() (iif)  round()
(v) type() (V) pow()

(a)

(i)  Write a program to display all 3 digit even numbers.
(i) ~Write the output for the following program.
i=1
while(i<=6):
for j in range(1,i):
print(j, end="\t')
print(end="\n")

i+=1 |
OR
(b) Explain the following built-in functions :
@ id() (i) chr() (iii) round()
() type() (v) pow()
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) auflen : '
*pop CsLa A permenws THSHEEM_DLen eleundéseyL.

) Gewpsmpsamar er(igissm GLar eleufssay.

DS eLpeimy OV @UL@LDUG&)L cramaener QevafludHeugmamer
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(<) Deraumin OUESTE 51 eersaflar Qeualus e or Wa!s.
strl="Welcome to Python"
() print(str1)
()  print(str1[11 : 17])
(i print(str1[11 : 17 : 2])
(iv) print(str1[: ; 4))

(V)  print(strl[: : ~4])
VN
() @ussrale oys8 wHnw AfuGsmer eraieurm euenTwWDLILITL ?
ThsgIssT_HLan efleuféseyi.
(a) Write the output for the following Python commandé :
str1="Welcome to Python"
(i)  print(strl)
(i) print(str1[11 : 17])
(i) print(str1[11 : 17 : 2])
(iv) print(strl: : 4])
(v) print(strl[: : —4])
OR

(b) How to define constructor and destructor in Python ? Explain with example.

(o) wussrafl gerer udGeumy set Qswed ur@Hsamer QuUT (/& & LTe
T(HEGIGET_(HEEhHL6m elaTd:Es.
LNV
(<) DBMS opmib RDBMS Caugiui®ésis.
(a) Explain the different set operations supported by Python with suitable example.
OR
(b) Differentiate DBMS and RDBMS.
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Loomisaend Cla e @It DI LGUeNaT

< pexf) ATT&HICTRS T ¥ '
() wnaTisEhs@ gD BHS! e

L BAUNEs G SQL saphleer erpd, DbS uesflwrerT <
@F S Laimar sl HUurleL e (Heurssajb.
SIVG]
() C++ B85 evugsren uRTLESE DGO LPD TPSIS.

(a) Write a SQL statement to create a table for employee having any five fields and

create a table constraint for the employee table.

OR
(b) Write the features of Python over C++.
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